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Physical Sciences

2 Marks Questions

Q: a) CH3 - CHQ - CHQ - CH3

b) CHg — CH - CHg
|
CHa

In both the substances number of carbon

and hydrogen atoms are the same. What do

you understand by seeing these structures?
A: Substances a and b have the same molecu-

lar formula but different structural formula.
* So they are structural isomers.

Q: Identify the functional group in the below
compound and write the IUPAC name of
this.

CHz O
| Il
CHz3 —CH — C —CHg
A: The functional group present in
CHz O
| I
CH3 — CH — C — CHg3 is Ketone.
* The IUPAC name of the compound is
3 - Methyl - 2 - Butan - One.

* The characteristic properties of an organic
compound depend mainly on an atom or
group of atoms in its molecule known as the
functional group.

Q: How does metals occur in nature? Give
examples to any two types of minerals?

A: The earth's crust is the major source of
metals.

Name three metals..?

* Sea water also contains some soluble salts
such as Sodium Chloride and Magnesium
Chloride... etc.

* Some metals like gold (Au), Silver (Ag) and
Copper (Cu) are available in nature in free
state.

* The elements or compounds of the metals
which occur in the earth crust are called min-
erals.

* The minerals from which the metals are
extracted without economical loss are called
ores.

* a) Bauxite - Al503.2H50 - is the
ore (mineral) for the metal Al

* b) Cinabar - Hgs - is the ore (min-
eral) for Hg, these are the exam-
pels.

Q: Explain thermite process?

A: Thermite process involves the
reaction of metal oxides with
Aluminium.

* When highly reactive metals such as sodi-
um, calcium, aluminium... etc are used as
reducing agents, they displace metals of
lower reactivity from the compound.

* These displacement reactions are highly
exothermic.

* The amount of heat evolved is so large that
the metals produced are in molten state.

Eg: 850°C
TiCly + 2 Mg —— Ti + 2MgCly

b,

850°C
TiCly + 4 N\a—— Ti + 4 NaCl

Q: What is 22 carat gold? Why is it preferred for
making jewellery?

C.V.Sarveswor-o Sérmo

A: 24 carat gold is pure gold. It is very soft.

* Soft gold is not suitable for making jewellery.

* Pure gold is mixed with either copper or sil-
ver to make it relatively hard.

% So 2 parts of silver or copper is mixed with
pure gold to make it 22 carat gold.

* This 22 carat gold is sufficiently hard to make
jewellery.

1 Mark Questions

Q: Name three metals which occur in free state
in nature.

A: Gold (Au), Silver (Ag) and
Copper (Cu) are available in
nature in free state.

Q: How are metals extracted from
mineral ores?

A: The extraction of metals from
their ores are done in three
stages.

a) Concentration or dressing.

b) Extraction of crude metal.
¢) Refining or purification of metal.

Q: What are the various types of furnaces?

A: 1) Blast furnace 2) Reverberatory furnace
and 3) Retort furnace are the three types of
furnaces.

Q: Why are we advised not to use animal fats
for Cooking?

A: Animal fats are recently identified as the
cause for heart disease and obesity. So it is
advised not to use them for cooking.

Q: What is Ethanoic acid?

A: Ethanoic acid is commonly called as acetic
acid.

Q: Name the acid present in Vinegar.

A: 5-8 % solution of acetic acid in water is
called Vinegar.

Q: What happens when a small piece of sodi-
um is dropped into ethanol?

A: When a small piece of sodium is dropped
into ethanol, sodium ethoxide and hydrogen
are formed.

2 C2H50H +2Na——2 C2H50Na + H2
Ethanol Sodium Ethoxide

Q: What is the difference between roasting
and calcination. Give one example for
each. (2 Marks)

A: Roasting Calcination

1. Calcination is the
process in which
the ore is heated

in the absence of

1. Roasting is the
process in which the
ore is heated in the
presence of air

below its melting air.
point.

2. In this process metal | 2. In this process
oxide is obtained metal oxide is

from sulphide ore. obtained by

decomposition of

the ore.
Eg: 2 ZnS + 3 O, —— | E9: CaCO3 —>
2Zn0O + 2 SO, CaO + COo
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